

Quantum Probability: Exercise set 9 (C323, Friday 16.4.2010, 16-18) - corrected

Let  $H = \int \omega(p)a^\dagger(p)a(p)dp$  be the Fock space Hamiltonian corresponding the single particle Hamiltonian  $h$  on  $\mathcal{H}$ . Denote the canonical and grand canonical ensembles by

$$\rho_\beta := \frac{e^{-\beta H}}{\text{Tr} e^{-\beta H}} \quad \text{and} \quad \rho_{\beta,\mu} := \frac{e^{-\beta(H-\mu N)}}{\text{Tr} e^{-\beta(H-\mu N)}},$$

respectively. Here  $N := \int a^\dagger(p)a(p)dp$  is the total number operator and the constant  $\mu > 0$  is the chemical potential. The ground state of the field is denoted by  $\Omega$ .

Denote by  $\mathcal{P}_{2m}$  and  $\mathcal{S}_n$  the set of all pairings of  $\{1, 2, \dots, 2m\}$  and the set of permutations of  $\{1, 2, \dots, n\}$ , respectively. Let  $\Phi(f) := a^\dagger(f) + a(f) = \int f(p)a^\dagger(p) + \bar{f}(p)a(p)dp$  where  $f(p) = \langle \phi(p), f \rangle$  and  $\phi(p)$  is the eigenfunction of the mode  $p$ . As usual, denote operators in the interaction picture by adding a subscript I, e.g.,  $a_I(p) \equiv a_I(p; t) = e^{itH}a(p)e^{-itH}$ , etc.

*Hint:* In general the proofs for fermions are follow same lines as the corresponding proofs for bosons in the lecture notes.

1. Some details:

- (a) Find the explicit expression for  $\sigma(A) \in \{+1, -1\}$  on page 123 of the lecture notes?
- (b) Prove that the number of pairings of  $\{1, \dots, 2m\}$ , the number  $|\mathcal{P}_{2m}|$ , equals  $\frac{(2m)!}{2^m m!}$
- (c) For both bosons and fermion show that  $e^{\alpha H}a^\dagger(f) = a^\dagger(e^{\alpha h}f)e^{\alpha H}$  and  $a(g)e^{\alpha H} = e^{\alpha H}a(e^{\alpha h}g)$  for any  $\alpha \in \mathbb{C}$ ,  $f, g \in \mathcal{H}$ .

2. Zero-temperature case for bosons and fermions:

- (a) Prove by induction on  $m \in \mathbb{N}$  that for bosons:

$$\langle \Omega, \Phi(f_1)\Phi(f_2)\dots\Phi(f_{2m})\Omega \rangle = \sum_{P \in \mathcal{P}_{2m}} \prod_{(i,j) \in P} \langle f_i, f_j \rangle$$

- (b) Find similar expression for Fermions.

- (c) Prove that one can write

$$\langle \Omega, \Phi_I(f_1; t_1) \dots \Phi_I(f_{2m}; t_{2m})\Omega \rangle = \sum_{P \in \mathcal{P}_{2m}} \prod_{(i,j) \in P} h(t_i - t_j; f_i, f_j),$$

for fermions. What are the functions  $h$ ?

3. Finite temperature case for fermions:

- (a) Show that the pair correlation function is

$$\text{Tr} \{a^\dagger(f)a(g)\rho_{\beta,\mu}\} = \left\langle g, \frac{1}{1+e^{\beta(h-\mu)}} f \right\rangle$$

- (b) Show that

$$\text{Tr} \{a^\dagger(f_1) \dots a^\dagger(f_n)a(g_n) \dots a(g_1)\rho_\beta\} = \sum_{\pi \in \mathcal{S}_n} (-1)^\pi \prod_{i=1}^n \left\langle g_i, \frac{1}{1+e^{\beta(h-\mu)}} f_{\pi(i)} \right\rangle$$

4. The generating function: Prove that for bosons one gets:

$$\text{Tr} \{e^{i\Phi(f)}\rho_\beta\} = \exp\left[-\frac{1}{2}\left\langle f, \frac{1+e^{-\beta h}}{1-e^{-\beta h}} f \right\rangle\right].$$

9.1

(a)  $\sigma(A)$  IS JUST THE COEFFICIENT IN A GENERAL EXPRESSION:

$$[X_1, [X_2, \dots, [X_m, Y] \dots]] = \sum_{A \subset \{1, 2, \dots, m\}} \sigma(A) \underbrace{X_{i_1} X_{i_2} \dots X_{i_m}}_{=: X_A} Y \underbrace{X_{j_1} X_{j_2} \dots X_{j_{m-m}}}_{=: Y_{A^c}}$$

WHERE  $A^c := \{1, 2, \dots, m\} \setminus A$

AND  $A = \{i_1, \dots, i_m\}$  AND  $A^c = \{j_1, j_2, \dots, j_{m-m}\}$

AND  $i_l < i_{l+1}$  AND  $j_l > j_{l+1}$ .

- SINCE  $[X, Y] = (X)Y + Y(-X)$  ONE SEES THAT

$$\begin{aligned} \sigma(A) &= (-1)^{|A^c|} \\ &= (-1)^{m-|A|} \end{aligned}$$

- THIS CAN BE PROVEN FORMALLY BY INDUCTION ON  $m \in \mathbb{N}$ .

(b) - LET'S RECALL: SUPPOSE THERE ARE  $m$  OBJECTS AND WE ASK HOW MANY WAYS ONE CAN PUT  $m_1$  OF THESE INTO 1ST "BOX" AND  $m_2$  INTO 2ND "BOX", AND SO ON, SUCH THAT  $m_1 + m_2 + \dots + m_l = m$ , I.E., THERE ARE  $l$  BOXES, IN TOTAL.

- THE ANSWER IS

$$\begin{aligned} &\frac{m \cdot (m-1) \dots (m+1-m_1)}{m_1!} \times \frac{(m-m_1) \dots (m+1-m_1-m_2)}{m_2!} \times \dots \times \frac{m_l \cdot (m_l-1) \dots 2 \cdot 1}{m_l!} \\ &= \frac{m!}{\prod_{i=1}^l m_i!} \equiv \binom{m}{m_1, m_2, \dots, m_l} \end{aligned}$$

- THIS IMPLIES THAT THERE ARE

$$\binom{2m}{\underbrace{2}_{(1)}, \underbrace{2}_{(2)}, \dots, \underbrace{2}_{(m)}} = \frac{(2m)!}{2^m}$$

WAYS TO CHOOSE  $m$  LABELED PAIRS.

- SINCE FOR US THE PAIRS ARE NOT LABELED, I.E.G.,

$(1,3), (2,4)$  IS CONSIDERED SAME AS  $(2,4), (1,3)$

WE MUST FURTHER DIVIDE BY  $m!$

$$\Rightarrow \text{WE GET } |\mathcal{P}_{2m}| = \frac{(2m)!}{2^m m!} \quad \square$$

(c) Let  $\int f_1 \otimes \dots \otimes f_m = \frac{1}{m!} \sum_{\pi \in S_m} f_{\pi(1)} \otimes \dots \otimes f_{\pi(m)}$

$$\mathcal{A} f_1 \otimes \dots \otimes f_m = \frac{1}{m!} \sum_{\pi \in S_m} (-1)^{\pi} f_{\pi(1)} \otimes \dots \otimes f_{\pi(m)}$$

BY EXERCISE (5.1) WE HAVE

$$e^{\alpha H} f_1 \otimes \dots \otimes f_m = e^{\alpha H} f_1 \otimes \dots \otimes e^{\alpha H} f_m$$

$$\begin{aligned} \text{THIS } \mathcal{A} e^{\alpha H} \mathcal{A} f_1 \otimes \dots \otimes f_m &= \frac{1}{m!} \sum_{\pi \in S_m} (-1)^{\pi} \mathcal{A} e^{\alpha H} f_{\pi(1)} \otimes \dots \otimes e^{\alpha H} f_{\pi(m)} \\ &= \frac{\sqrt{m}}{m!} \sum_{\pi \in S_m} (-1)^{\pi} \langle \mathcal{A} | e^{\alpha H} f_{\pi(1)} \rangle e^{\alpha H} f_{\pi(2)} \otimes \dots \otimes e^{\alpha H} f_{\pi(m)} \\ &= \textcircled{1} \end{aligned}$$

9.1c CONTINUES...

- Similarly:

$$e^{\alpha H} a(\tilde{y}) \mathcal{A} f_1 \otimes \dots \otimes f_n = \frac{\sqrt{n}}{n!} \sum_{\pi \in S_n} (-1)^\pi e^{\alpha H} \langle \tilde{y}, f_{\pi(1)} \rangle f_{\pi(2)} \otimes \dots \otimes f_{\pi(n)}$$

$$= \frac{\sqrt{n}}{n!} \sum_{\pi \in S_n} (-1)^\pi \langle \tilde{y}, f_{\pi(1)} \rangle e^{\alpha H} f_{\pi(2)} \otimes \dots \otimes e^{\alpha H} f_{\pi(n)}$$

- So, if we choose

$$\tilde{y} = e^{\bar{\alpha} H} y \quad \text{then} \quad \langle \tilde{y}, f_{\pi(1)} \rangle = \langle e^{\bar{\alpha} H} y, f_{\pi(1)} \rangle \stackrel{(\bar{\alpha} H)^T = \alpha H}{=} \langle y, e^{\alpha H} f_{\pi(1)} \rangle$$

and thus ① = ②. Moreover, vectors of the form

$$\mathcal{A} f_1 \otimes \dots \otimes f_n \quad 1 \leq n \in \mathbb{N}$$

are dense in the Fock space  $\Rightarrow$  ① = ② implies the claim.

- Now, bosons are treated similarly: replace  $\mathcal{A}$  by  $\mathcal{B}$  and  $(-1)^\pi$  by 1.

$$\begin{aligned} \text{- Moreover, } e^{\alpha H} a^\dagger(y) &= (a(y) e^{\bar{\alpha} H})^\dagger \\ &= (e^{\bar{\alpha} H} a(e^{\alpha H} y))^\dagger \\ &= a^\dagger(e^{\alpha H} y) e^{\alpha H} \end{aligned}$$

since  $(a(f))^\dagger = a^\dagger(f)$ .

0.2 Let's prove (a) and (b) at the same time:

- Denote:  $\Phi_i := \Phi(f_i)$  and  $a_i := a(f_i)$  and

$$\begin{aligned} \Phi_{i:\bar{j}} &:= \Phi_i \Phi_{i+1} \dots \Phi_{\bar{j}-1} \Phi_{\bar{j}} \\ &= \Phi(f_i) \dots \Phi(f_{\bar{j}}) \text{ for } i \leq \bar{j}. \end{aligned}$$

- For bosons (+) and fermions (-) we have:

$$a_i a_j^\dagger = \pm a_j^\dagger a_i + \langle f_i, f_j \rangle$$

So = (Let's calculate with fermions - the case of bosons follows by replacing all minus signs with "+")

$$\begin{aligned} \langle \Omega, \Phi_{1:M} \Omega \rangle &= \langle \Omega, (\partial_1 \Phi_2) \Phi_{3:M} \Omega \rangle \\ &= \langle \Omega, (-\Phi_2 a_1 + \langle f_1, f_2 \rangle) \Phi_{3:M} \Omega \rangle \\ &= \langle f_1, f_2 \rangle \langle \Omega, \Phi_{3:M} \Omega \rangle - \langle \Omega, \Phi_2 (\partial_1 \Phi_3) \Phi_{4:M} \Omega \rangle \end{aligned}$$

- Similarly we get:

$$\begin{aligned} \langle \Omega, \Phi_{2:\bar{i}-1} (\partial_1 \Phi_i) \Phi_{i+2:M} \Omega \rangle &= \langle f_1, f_i \rangle \langle \Omega, \Phi_{2:\bar{i}-1} \Phi_{i+1:M} \Omega \rangle \\ &\quad - \langle \Omega, \Phi_{2:\bar{i}} (\partial_1 \Phi_{i+1}) \Phi_{i+2:M} \Omega \rangle \end{aligned}$$

So just by iterating:

$$\langle \Omega, \Phi_{1:M} \Omega \rangle = \sum_{\bar{j} \in \bar{2}} (-1)^{\bar{j}} \langle f_1, f_{\bar{j}} \rangle \langle \Omega, \Phi_{2:\bar{j}-1} \Phi_{\bar{j}+1:M} \Omega \rangle \quad (1)$$

Since  $\partial_1 \Omega = 0$ . Now, if we write  $(-1)^{\bar{j}} = (-1)^{\bar{j}-1-1}$  then we can identify the exponent  $(\bar{j}-1-1)$  as the number of

basic swaps of type  $(\bar{i}_1 \bar{i}_2 \dots \bar{i}_{\bar{j}-1} \bar{i}_{\bar{j}} \bar{i}_{\bar{j}+1} \bar{i}_{\bar{j}+2} \dots \bar{i}_M) \mapsto (\bar{i}_1 \bar{i}_2 \dots \bar{i}_{\bar{j}-1} \bar{i}_{\bar{j}+1} \bar{i}_{\bar{j}} \bar{i}_{\bar{j}+2} \dots \bar{i}_M)$  to bring 1st and  $\bar{j}$ th element next to each others.

- Now, let's show that (1) yields an expansion:

$$\langle \Omega, \Phi_{1:M} \Omega \rangle = \sum_{P \in \mathcal{P}_M} (-1)^P \prod_{(i,j) \in P} \langle f_i, f_j \rangle \quad (2)$$

$$\begin{aligned} \text{where } (-1)^P &:= (-1)^{\#\{\text{swaps needed to bring } 12 \dots M \text{ to } \bar{i}_1 \bar{j}_1 \bar{i}_2 \bar{j}_2 \dots \bar{i}_{M/2} \bar{j}_{M/2}\}} \\ &= (-1)^{\pi(P)} \end{aligned}$$

where  $\pi(P) \in S_M$  is a (non-unique) permutation that

$$\text{satisfies: } (12 \dots M) \xrightarrow{\pi} (\bar{i}_1 \bar{j}_1 \bar{i}_2 \bar{j}_2 \dots \bar{i}_{M/2} \bar{j}_{M/2}) \quad (3)$$

with  $\bar{i}_x < \bar{j}_x$  and  $(i_x, j_x) \in P, \forall x=1, \dots, M/2$ .

- NOTE: It's easy to see that the order of the pairs

does not matter, i.e., if  $\pi, \hat{\pi} \in S_M$  both satisfy (3)

$$\text{then } (-1)^{\hat{\pi}} = (-1)^{\pi}: (\bar{i}_1 \bar{j}_1 \bar{i}_2 \bar{j}_2) \sim -(\bar{i}_1 \bar{i}_2 \bar{j}_1 \bar{j}_2) \sim (\bar{i}_2 \bar{i}_1 \bar{j}_1 \bar{j}_2) \sim \dots \sim (\bar{i}_2 \bar{j}_2 \bar{i}_1 \bar{j}_1)$$

- To prove (3) we simply note that (1) is the needed induction step while the claim trivially holds for  $M=2$ .

9.2 continues...

c) WE HAVE  $M=2M$ :

$$\textcircled{A} := \langle \Omega, \bar{\Phi}_I(f_1, t_1) \cdots \bar{\Phi}_I(f_M, t_M) \Omega \rangle$$

$$\begin{aligned} \text{NOW, } \bar{\Phi}_I(f, t) &= e^{i\lambda t H} \bar{\Phi}(f) e^{-i\lambda t H} \\ &= e^{i\lambda t H} \{ a^\dagger(f) + a(f) \} e^{-i\lambda t H} \\ &= a^\dagger(e^{i\lambda t h} f) + a(e^{i\lambda t h} f) \end{aligned}$$

WHERE THE LAST COMES FROM 9.1c)

BUT THIS IMPLIES  $\bar{\Phi}_I(f, t) = \bar{\Phi}(e^{i\lambda t h} f)$

AND NWS (b) IMPLIES:

$$\begin{aligned} \textcircled{A} &= \sum_{P \in \mathcal{P}_M} (-1)^P \prod_{(i,j) \in P} \underbrace{\langle e^{i\lambda t_i h} f_i, e^{i\lambda t_j h} f_j \rangle}_{=} \\ &\quad \langle f_i, e^{-i\lambda(t_i - t_j)h} f_j \rangle =: h(\lambda_i - \lambda_j) f_i f_j \end{aligned}$$

9.3. a) Since  $\mathcal{P}_{B|N} = \frac{e^{-\beta(H-NN)}}{\text{Tr} e^{-\beta(H-NN)}}$  by setting  $Z = \text{Tr}(e^{-\beta(H-NN)})$  we get:

$$(A) := \text{Tr} [\mathcal{P}_{B|N} a^\dagger(f) a(\gamma)] = Z^{-1} \cdot \text{Tr} [e^{-2\beta\tilde{H}} a^\dagger(f) a(\gamma)]$$

where  $\tilde{H} = \frac{1}{2} (H-NN)$

$$= \frac{1}{2} \int (\omega(p) - N) a^\dagger(p) a(p) dp$$

$$= \int \underbrace{\left( \frac{\omega(p) - N}{2} \right)}_{=: \tilde{\omega}(p)} a^\dagger(p) a(p) dp$$

Exercise (9.1) then implies:

$$(1) \quad e^{-\beta\tilde{H}} a^\dagger(f) = a^\dagger(e^{-\beta\tilde{H}} f) e^{-\beta\tilde{H}}$$

$$a(\gamma) e^{-\beta\tilde{H}} = e^{-\beta\tilde{H}} a(e^{-\beta\tilde{H}} \gamma)$$

where  $\tilde{H}$  is a single particle Hamiltonian:

$$\tilde{H} = \int \tilde{\omega}(p) P(dp)$$

with  $P(dp)$  formally equal to  $|\phi(p)\rangle\langle\phi(p)| dp$ ,  $\tilde{H} \phi(p) = \tilde{\omega}(p) \phi(p)$ .

- Now, using (1) to manipulate (A) we get:

$$(A) = Z^{-1} \cdot \text{Tr} [(e^{-\beta\tilde{H}} a^\dagger(f)) (a(\gamma) e^{-\beta\tilde{H}})]$$

$$= Z^{-1} \cdot \text{Tr} [(a^\dagger(e^{-\beta\tilde{H}} f) e^{-\beta\tilde{H}}) (e^{-\beta\tilde{H}} a(e^{-\beta\tilde{H}} \gamma))] \quad (e^{-\beta\tilde{H}})^\dagger = e^{-\beta\tilde{H}}$$

$$= \text{Tr} [a(e^{-\beta\tilde{H}} \gamma) a^\dagger(e^{-\beta\tilde{H}} f) \mathcal{P}_{B|N}]$$

$$= \text{Tr} \left[ \left\{ -a^\dagger(e^{-\beta\tilde{H}} f) a(e^{-\beta\tilde{H}} \gamma) + \langle e^{-\beta\tilde{H}} \gamma, e^{-\beta\tilde{H}} f \rangle \right\} \mathcal{P}_{B|N} \right]$$

$$= \langle \gamma, e^{-2\beta\tilde{H}} f \rangle - \text{Tr} [a^\dagger(e^{-\beta\tilde{H}} f) a(e^{-\beta\tilde{H}} \gamma) \mathcal{P}_{B|N}]$$

- The second term is of the same form as (A) except  $f \mapsto e^{-\beta\tilde{H}} f$   
 $\gamma \mapsto e^{-\beta\tilde{H}} \gamma$

$\Rightarrow$  Iterate:

$$(A) = \sum_{j=1}^M (-1)^{j-1} \langle \gamma, (e^{-2\beta\tilde{H}})^{j-1} f \rangle + (-1)^M \text{Tr} \left[ \frac{a^\dagger(e^{-\beta M \tilde{H}} f)}{a(e^{-\beta M \tilde{H}} \gamma)} \mathcal{P}_{B|N} \right]$$

- Now, the remainder term  $\rightarrow 0$  as  $M \rightarrow \infty$  since

$$\tilde{H} > 0 \quad (*)$$

- Thus we have

$$\text{Tr} [a^\dagger(f) a(\gamma) \mathcal{P}_{B|N}] = \langle \gamma, e^{-2\beta\tilde{H}} \sum_{j=0}^{\infty} (-e^{-2\beta\tilde{H}})^j f \rangle$$

$$= \langle \gamma, \frac{e^{-2\beta\tilde{H}}}{1 + e^{-2\beta\tilde{H}}} f \rangle$$

$$= \langle \gamma, \frac{1}{1 + e^{\beta(H-N)}} f \rangle$$

2.3. b) WRITE  $\partial^+(f_{1:j}) := \partial^+(f_1) \partial^+(f_{2:m}) \dots \partial^+(f_j)$  and similarly for  $\partial^+(g_{1:j})$  for  $1 \leq j \leq m$ . Then:

$$\begin{aligned} \textcircled{A} &:= \text{Tr} \left[ \partial^+(f_{1:m}) \partial^+(g_{1:m}) \rho_{B|N} \right] = \mathbb{Z} \cdot \text{Tr} \left[ \partial^+(f_{1:m}) \partial^+(g_{1:m-1}) \left( \partial^+(g_m) e^{-\beta(H-NN)} \right) \right] \\ &= \mathbb{Z} \cdot \text{Tr} \left[ \partial^+(f_{1:m}) \partial^+(g_{1:m-1}) \left( e^{-\beta(H-NN)} \partial^+(w \cdot g_m) \right) \right] \\ &= \text{Tr} \left[ \left( \partial^+(w \cdot g_m) \partial^+(f_1) \right) \partial^+(f_{2:m}) \partial^+(g_{1:m-1}) \rho_{B|N} \right] \quad (*) \end{aligned}$$

where  $\mathbb{Z} := \text{Tr} e^{-\beta(H-NN)} \in \mathbb{R}_+$  and  $w(p) = e^{-\beta(w(p)-N)}$ .

Now, we just use  $\partial^+(f) \partial^+(g) = -\partial^+(g) \partial^+(f) + \langle f, g \rangle$ :

$$\begin{aligned} \textcircled{A} &= \text{Tr} \left[ \left\{ -\partial^+(f_1) \partial^+(w \cdot g_m) + \langle w \cdot g_m, f_1 \rangle \right\} \cdot \partial^+(f_{2:m}) \partial^+(g_{1:m-1}) \rho_{B|N} \right] \\ &= \langle g_m, w \cdot f_1 \rangle \text{Tr} \left[ \partial^+(f_{2:m}) \partial^+(g_{1:m-1}) \rho_{B|N} \right] \\ &\quad - \text{Tr} \left[ \partial^+(f_1) \partial^+(w \cdot g_m) \partial^+(f_{2:m}) \partial^+(g_{1:m-1}) \rho_{B|N} \right] \end{aligned}$$

By moving  $\partial^+(w \cdot g_m)$  cross  $\partial^+(f_{2:m})$  in the second term yields:

$$\begin{aligned} \textcircled{A} &= \sum_{j=1}^m (-1)^{j-1} \langle g_m, w f_j \rangle \text{Tr} \left[ \partial^+(f_{1:j-1}) \partial^+(f_{j+1:m}) \partial^+(g_{1:m-1}) \rho_{B|N} \right] \\ &\quad + (-1)^m \text{Tr} \left[ \partial^+(f_{1:m}) \partial^+(w \cdot g_m) \partial^+(g_{1:m-1}) \rho_{B|N} \right] \end{aligned}$$

Now, if we move  $\partial^+(w \cdot g_m)$  past  $\partial^+(g_{1:m-1})$  we get extra factor  $(-1)^{m-2}$ . By moving  $\partial^+(w \cdot g_m)$  past  $\rho_{B|N}$  as well gives:

$$\textcircled{A} = \sum_{j=1}^m (-1)^{j-1} \langle g_m, w f_j \rangle \text{Tr} \left[ \partial^+(f_{1:j-1}) \partial^+(f_{j+1:m}) \partial^+(g_{1:m-1}) \rho_{B|N} \right]$$

$$= (-1)^m (-1)^{m-2} \text{Tr} \left[ \partial^+(w \cdot g_m) \partial^+(f_{1:m}) \partial^+(g_{1:m-1}) \rho_{B|N} \right]$$

But now, the last term equals  $(*)$  with  $w \mapsto w^2$ .

Iterating and using the positivity of  $H-N$  to argue  $w^m \rightarrow 0$  as  $m \rightarrow \infty$  we get:

$$\begin{aligned} \textcircled{A} &= \sum_{j=1}^m (-1)^{j-1} \sum_{l=2}^{\infty} (-1)^{l-2} \langle g_m, w^l f_j \rangle \text{Tr} \left[ \partial^+(f_{1:j-1}) \partial^+(f_{j+1:m}) \partial^+(g_{1:m-1}) \rho_{B|N} \right] \\ &= \sum_{j=1}^m (-1)^{j-1} \langle g_m \frac{w}{1+w} f_j \rangle \cdot \text{Tr} \left[ \partial^+(f_{1:j-1}) \partial^+(f_{j+1:m}) \partial^+(g_{1:m-1}) \rho_{B|N} \right] \end{aligned}$$

9.4 - From notes:  $M=2M_1$ :

$$(0) \text{Tr} \{ \Phi(f_1) \cdot \Phi(f_2) \rho_B \} = \sum_{P \in \mathcal{P}_M} \prod_{(i,j) \in P} G_B(f_i, f_j)$$

with  $G_B(f_1, f_2) := \text{Tr} \{ \Phi(f) \Phi(g) \rho_B \}$ . For  $M=2M_1+1$  LHS of (0) yields 0.

- Now,

$$(1) \text{Tr} \{ e^{i\Phi(f)} \rho_B \} = \sum_{m=0}^{\infty} \frac{i^m}{m!} \text{Tr} \{ \Phi(f)^m \rho_B \}$$

- by using (0) one gets for  $M=2l+1$  zero and  $M=2l$ :

$$\begin{aligned} \text{Tr} \{ \Phi(f)^{2l} \rho_B \} &= |\mathcal{P}_{2l}| \cdot G_B(f, f)^l \\ &= \frac{(2l)!}{l! 2^l} \left\langle f, \frac{1+e^{iPh}}{1-e^{iPh}} f \right\rangle^l \end{aligned}$$

- Thus (1) becomes

$$\begin{aligned} \text{Tr} \{ e^{i\Phi(f)} \rho_B \} &= \sum_{l=0}^{\infty} \frac{(-1)^l}{(2l)!} \frac{(2l)!}{l!} \left( \frac{1}{2} \left\langle f, \frac{1+e^{iPh}}{1-e^{iPh}} f \right\rangle \right)^l \\ &= \exp \left[ -\frac{1}{2} \left\langle f, \frac{1+e^{iPh}}{1-e^{iPh}} f \right\rangle \right] \quad \square \end{aligned}$$